= VAN N = VAN N
ANDETE  SEERI 1 ADETE SEEAl 2
£ fA B K& £ #H FE-KZ

@ 3(x+2y) @ 52x-3y) @® 4@x+y) @ 2(5xz-3y)

® -5@x+4y) @ -3(4x-5y) ® -7Cx+4y) @ -32x-8y)
® 2x+y)+3(5x+2y) ® 3(x+2y)+2(3x+5y)

® 7Q2x+3y)—4(3x+4y) ® 6(2x+3y)—2(4x+by)

@ 53x-2y)-32x—5y) @ 4(5x—2y)—-3(3x—5y)

< g H B> < £ H B>




= VAN N = VAN N
ADETE 9BEEAl 3 ADFTE SEEAl 4
=3 pE| B K& =3 H E-KZ

@D 3(x+8y) @ 7@2x-3y) D 5@x+3y) @ 4(7x-y)

® -5@x+3y) @ -3(7x—5y) ® —6(8x+3y) @ -3(5x—8y)
® 2(4x+3y) +3(x+2y) ® 3@x+y)+53x+4y)

® 7@Q2x+3y)—4(3x+5y) ® 7@2x+y)—2(4x+3y)

@ 5@2x-3y)-33x—2y) @D 4(7x-2y)-3Cx~-y)

< g H H> < g A H>




= VAN N = VAN N
ANDETE SHECEAlI 5 ADETE 7BECERl 6
£ fA &-K& £ #H FE-KZ

®D 7@x+5y) @ 3(5x-3y) D 6(x+3y) @ 4(5x-2y)

® -5@x+4y) @ -2(3x-5y) ® -7(8x+3y) @ -5(5x—6y)
® 43x+2y)+3(5x+y) ® 3Bx+y)+5C2x+3y)

® 7(3x+2y)—4(3x+4y) ® 7(4x+y)—2(5x+4y)

@ 5(5x—2y)—3(3x—5y) @ 4(5x—2y) - 3(7x—2y)

< g H B> < £ H B>




= VAN N = VAN N
NDETE  SEEAl 7 ADETE 7BEcERl 8
£ fA B K& £ #H FE-KZ

@ 3(7x+5y) @ 4(6x-y) @ 5(x+4y) @ 4(8x-3y)

® -7(4x+3y) @ -2(8x—3y) ® -9(7x+2y) @ —4(7x-2y)
® 5(5x+y)+22x+3y) ® 7@Cx+y)+2(3x+2y)

® 7(3x+5y)—5(5x+3y) ® 3(8x+2y)—2(9x+4y)

@ 4(4x-3y)-33x—y) @ 53x—2y)-2(5x—2y)

< g H B> < £ H B>




